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1. COMPREHENSION

Read 7his passage and answer the questions following .

beset by difficulties.
Environmentalists s

that construction of the pipeline will damage forests and

will produce social upheaval, leading inevitably to a variety of

orry routes, they point outf, are often almost identical with
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QUESTIONS

a) Give two advantages expected from the project.

b) Give two disadvantages that the project may cause.
c) How many countries arc affected by the project? Name them.
d) Who is Supporting the project? Who is opposing it?

¢) Where else in Africa was such a project carried out? What happened, and with wh

f) Suggest a heading for this passage. i

2. GRAMMAR
a) What is the noun [onl led from 'reduce?
b) Give the adjective formed from poverty.
¢) What is the singular of people? -
d) Give the opposite of complicated;
e) Which is the correct sentence?
i) 111e children's clothes are clean
,ji) The children’s' clothes are clean.
f) Put this sentence in the plural
The boy has eaten his food.
g) Which is the correct sentence?
1) John is the tallest of the three boys
ii) John is the taller of the three bo
h) Which is the correct sentence?
i) Mary sleep soundly :
i) Mary sleeps soundly ¢
iii) Mary sleeps sound. :

Y

¢ participial phrase at the beginning will agree with the noun.
task seemed easy to me.

4. ESSA v (6 marks)

Write au essay of about 250 words on one of the following topics:
1) Life is easier in the village than in town.

2) Education is the best investment.
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